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Answer either in English or in Assamese

1. Answer the following questions : , 1x5=5

T 2P el

(a) What is primary data?
A o 2

(b) Is questionnaire a source of secondary
data?
epaeR SRl (e SR b1 BT (AR ?

{c) Write one advantage of diagrammatic
presentation of data.

B w7 () Somrema ot R o
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(2)
(d) Define random sampling.
o 2ifSvama wige fia |
(e) What is population census?
SR PRt 2
2. Answer the following questions :
T AHCART T fraw
(@) Write two precautions in the use of

secondary data.

T B2 IRA TS TR G AT
fer4t|

5x3=15

(b) Write two importances of tabulation of
data.
CITETRIT o1 g forai

(c) Mention two uses of data in social
sciences.
IS TSS9 151 TR Ty 9 |

3. Answer any three of the following questions :
A et Fofbt e S ey
(a)

22A/73

Distinguish between simple random

sampling and stratified

random
sampling.

( Continued )

2x3=6

(3)

(p) How should a questionnaire be
prepared? Explain.
PG IR GXF (RCACP 2ES A1 ? A
91|

(c) Explain the limitations of pie diagram.
5% foa (73 FARROPIYR AT 4 |

(d) What are the differences between
population census and sampling?

el P o aifenae TR & 2
(e) Distinguish between questionnaire and
schedule.
PR e SIS IBIR AN1ef e <
three of the following questions :
4. Answer any tar e
e oA R fofbm Tt 4

(a) Discuss the various methods of primary
data collection.
onefie ©y wReRd Rfen “&feHE ScEna
QM

(b)) Draw a pie diagram for the followirfg
data of the sixth five-year plan public
sector outlays :
Agriculture and Rural development 12:9%

50,
Irrigation etc. 12:5%

Energy 272%
Industry and minerals 15-4%
Transport, communication etc. 15-9%
Social services and others 16-1%
( Turn Over )
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(4)

oo Ed A W AR AAREEAR el
499 IFF @51+ od s w4 |

IR I Ay Tmm S3-5%
GEAE eI $R-@%
& 49 A%
IR RSN R $@ 8%
JroRTS S @IS Tt Se8%
TS Gl S S« 11] U 5%

(c) What is a scatter diagram? Explain its
merits and limitations. 2+6=8
e foa B0 2R Ra o AaRmerz
=T 4|

(d) Draw a multiple bar diagram from the
following data :

Class No. of boys No. of girls
B.A. 1st semester 24 32
B.A. 3rd semester 20 27
B.A. 5th semester 17 23
worq OUR /{1 97 We foa @b SKH 4
T &9 T CRIATET RIT
B.A. =2 Iraf 38 o3
B.A. O AP 30 24
B.A. #i¢ arafie %9 39

(e) Explain the general rules of
constructing diagrams.

g sipera STaret FrReERR 101 340 |
* & K
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